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(1) (Fo)=24Ho])x(=°])= 153.86 x 6 = 923.16( cm?)
(2) (Fo)=(2Yo])x(=°])= 4.5216 x 20 = 90.432( cm?)
(3) (Fo))=(Ruol)x(=°])= 2826 x 14 = 39564( cm?)
(@) (Fo)=(24yo])x(=°])= 7850 x 6 = 47100( cm?)
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(27159 Fu) = (BH Hel) x (&°l)
=50.24 x 18 = 904.32(cm?)
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(Fulol)=3x2x3.14x5 = 94.2(cm?)
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(1) (2e ] wol)=[J(em?) 0],
(FHe] Hol)=2x2x 3.14x(¥&°])=
(2) Zgols Fohe A4S AleH
792 = [x2+[ (el
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(2) 2RolE Fole A< Al+H
87.92 = 12.56 X 2 + 12.56x(¥=°])
87.92 = 25.12 + 12.56x(%°])
(5=°])= (87.92 — 25.12) + 12.56

(1) (2H 2 Ho])=12.56( cm?) ©] 1,
(FH Yol)= 2x2x3.14x(=°])= 12.56%(=°])(cm?) o] B2

(3) metA, 97159 £l 5em Y.
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(27} 12 vH =97 A9)
= (AE°] 30cm 91 YF9] 121})
= 30 x 3.14 x 12 = 1130.4( cm)
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(FHoN)=(2F)x(¥&°)
3x2x3.14% 15 = 282.6( cm?)




